

## A CLASS OF SECOND ORDER DIFFERENCE EQUATIONS WITH DELAYS AND IMPULSES

*Hong Zhang & Lansun Chen*

**ABSTRACT:** This paper is devoted to the investigation of the oscillation of a class of second-order nonlinear impulsive delay difference equations. Some interesting results are obtained by using analysis technique and impulsive difference inequality, and some examples which illustrate that impulsive perturbations play a very important role in giving rise to oscillations of equations are also included.

**Keywords and Phrases:** Difference equation; Oscillation; Impulsive; Delay

**2000 Mathematics Subject Classification:** 39A11.

### 1. INTRODUCTION

In recent years, there has been much research activity concerning the oscillation and nonoscillation of solutions of ordinary differential equations. On the other hand, the theory of impulsive differential equations has attracted the interest of many researchers in the past 20 years since they provide a natural description of several real processes subject to certain perturbations whose duration is negligible in comparison with the duration of the process. Such processes are often investigated in various fields of science and technology such as physics, ecology, optimal control, etc. Recently, the corresponding theory for impulsive differential equations has been studied by several authors. (see[1-5] and the references therein). Only a few papers are impulsive difference equations [6, 7].

In this paper, we consider the following impulsive delay difference equation:

$$\begin{cases} \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) + f(n, x(n-l)) = g(x(n)), \alpha > 0, n \neq n_k, k \in N, \\ a_{n_k} \Delta_\alpha x(n_k) = b_k(a_{n_k-1}(\Delta_\alpha x(n_k - 1))), \\ a_{n_k} \Delta x(n_k) = b_k(a_{n_k-1}(\Delta x(n_k - 1))), \end{cases} \quad (1.1)$$

where  $\Delta x(n) = x(n+1) - x(n)$ ,  $\Delta_\alpha x(n) = x(n+1) - \alpha x(n)$ ,  $l \in N$ ,  $N$  is the natural number set,  $0 \leq n_0 < n_1 < \dots < n_k < \dots$ , and  $\lim_{k \rightarrow \infty} n_k = \infty$ .

Throughout this paper, we assume that the following conditions hold:

(c1)  $uf(n, u) > 0 (u \neq 0)$  and there exists a nonnegative sequence  $\{p_n\}$  such that

$$\frac{f(n, u)}{u} \geq p_n;$$

(c2)  $\{b_k\}_{k_0}^{\infty}$  is a positive sequence;

(c3)  $\{a_n\}_{n_0}^{\infty}$  is a positive sequence;

(c4)  $vg(v) \leq 0 (v \neq 0)$ .

For convince, we let

$$N[n_1, n_2] = \{n | n \in N, n_1 \leq n \leq n_2\},$$

$$N[n_1, n_2) = \{n | n \in N, n_1 \leq n < n_2\},$$

$$N[n_1, \infty) = \{n | n \in N, n_1 \leq n < \infty\}$$

and

$$S(n) = a_{n-1}(\Delta_{\alpha}x(n-1) + \Delta x(n-1)).$$

By a solution of Eq. (1.1), we mean a real valued sequence  $\{x(n)\}$  defined on  $N[n_0 - l, \infty)$  which satisfied Eq. (1.1) for  $n \geq n_0$ . It is obvious that Eq. (1.1) has a unique solution  $\{x(n)\}_{n_0-l}^{\infty}$ , under the initial conditions

$$x_i = y_i; i = n_0 - l, \dots, n_0, \quad (1.2)$$

in which  $y_i (i = n_0 - l, \dots, n_0)$  are given real constants.

A solution of Eq. (1.1) is said to be nonoscillatory if this solution is eventually positive or eventually negative. Otherwise, this solution is said to be oscillatory.

## 2. SOME LEMMAS

**Lemma 2.1:** Assume that

$$\begin{cases} \Delta m(n) \leq l_n m(n) + q_n, n \neq n_k, k \in N, \\ m(n_k + 1) \leq b_k m(n_k) + e_k, \end{cases}$$

where  $\{l_n\}$  and  $\{q_n\}$  are two real valued sequences and  $l_n > -1$ ,  $e_k, b_k$  are constants and  $b_k \geq 0$ . Then

$$\begin{aligned}
 m(n) \leq & m(n_0) \prod_{n_0 < n_k < n} b_k \prod_{n_0 < i < n, i \neq n_k, k \in N} (1+l_i) + \sum_{n_0 < n_k < n} e_k \prod_{n_k < n_j < n} b_j \prod_{n_k < i < n, i \neq n_j, j \in N} (1+l_i) \\
 & + \sum_{i=n_0}^{n-1} \prod_{i \neq n_k, i < n_k < n} b_k \prod_{i < s < n, s \neq n_k} (1+l_s) q_i, n \geq n_0. \tag{2.1}
 \end{aligned}$$

**Proof:** this lemma is a discrete version of Theorem 1.4.1 in [8] and Lemma 2.2 in [9]. The proof can be followed from mathematical induction and direct analysis:

If  $n \in N[n_0, n_1]$ ,  $m(n) \leq m(n_0) \prod_{n_0 < i < n} (1+l_i) + \sum_{i=n_0}^{n-1} \prod_{i < s < n} (1+l_s) q_i$ , obviously, for  $n \in N[n_0, n_1]$ , (2.1) holds. We might assume for  $n \in N[n_0, n_p]$ , (2.1) also holds, thus, for  $n \in N[n_p, n_{p+1}]$ , we get

$$\begin{aligned}
 m(n) & \leq m(n_p + 1) \prod_{n_p < i < n} (1+l_i) + \sum_{i=n_p}^{n-1} \prod_{i < s < n} (1+l_s) q_i \\
 & \leq (b_p m(n_p) + e_p) \prod_{n_p < i < n} (1+l_i) + \sum_{i=n_p}^{n-1} \prod_{i < s < n} (1+l_s) q_i,
 \end{aligned}$$

from the induction hypothesis, the above inequality turns into

$$\begin{aligned}
 m(n) \leq & \left\{ b_p \left[ m(n_0) \prod_{n_0 < n_k < n_p} b_k \prod_{n_0 < i < n_p, i \neq n_k, k \in N} (1+l_i) + \sum_{n_0 < n_k < n_p} e_k \prod_{n_k < n_j < n_p} b_j \prod_{n_k < i < n_p, i \neq n_j, j \in N} (1+l_i) \right. \right. \\
 & \left. \left. + \sum_{i=n_0}^{n_p-1} \prod_{i \neq n_k, i < n_k < n_p} b_k \prod_{i < s < n_p, s \neq n_k} (1+l_s) q_i \right] + e_p \right\} \prod_{n_p < i < n} (1+l_i) + \sum_{i=n_p}^{n-1} \prod_{i < s < n} (1+l_s) q_i,
 \end{aligned}$$

which on simplification gives the estimate (2.1) for  $n \in N[n_0, n_{p+1}]$ . This completes the proof.

**Lemma 2.2:** Let  $x(n)$  be a solution of Eq. (1.1). Suppose that there exists some  $N^* \geq n_0$  such that  $x(n) > 0$  for  $n \geq N^*$ , and the following conditions holds:

(h1)(c1) – (c4);

(h2) for all sufficiently large  $n_j \geq n_1$  the following inequality hold:

$$\lim_{n \rightarrow \infty} \sum_{m=0}^{n-n_j} \frac{2^m}{(\alpha-1)^{(m+1)} a_{n_j+m}} \prod_{n_j \leq n_k \leq n_j+m} b_k = +\infty.$$

Then

$$\Delta_\alpha x(n_{k-1}) + \Delta x(n_{k-1}) \geq 0, \Delta_\alpha x(n) + \Delta x(n) \geq 0, n \in N[n_k, n_{k+1})(n_k - l > N^*).$$

**Proof:** Firstly, we show that

$$\Delta_\alpha x(n_k - 1) + \Delta x(n_k - 1) \geq 0$$

for any  $n_k \geq N^*$ . Otherwise, there exists some  $j$  such that

$$\Delta_\alpha x(n_j - 1) + \Delta x(n_j - 1) < 0$$

for  $n_j, j > N^*$ , from Eq:(1:1), (c2) and (c3), we get

$$\begin{aligned} a_{n_j}(\Delta_\alpha x(n_j) + \Delta x(n_j)) &= b_j(a_{n_{j-1}} \Delta_\alpha x(n_j - 1)) + b_j(a_{n_{j-1}} \Delta x(n_j - 1)) \\ &= b_j a_{n_{j-1}} (\Delta_\alpha x(n_j - 1) + \Delta x(n_j - 1)) < 0. \end{aligned}$$

Let

$$a_{n_{j-1}}(\Delta_\alpha x(n_j - 1) + \Delta x(n_j - 1)) = -\beta \quad (\beta > 0),$$

From Eq. (1.1), for  $n \in N(n_{j+i-1}, n_{j+i}), i = 1, 2, \dots$ , we have

$$\Delta S(n) = \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) = -f(n, x(n-l)) + g(x(n)) \leq -p_n(x(n-l)).$$

Hence,  $S(n)$  is monotonically decreasing in  $N(n_{j+i-1}, n_{j+i})$ . So,

$$\begin{aligned} a_{n_{j+1}-1}(\Delta_\alpha x(n_{j+1} - 1) + \Delta x(n_{j+1} - 1)) &\leq a_{n_j}(\Delta_\alpha x(n_j) + \Delta x(n_j)) \\ &= -b_j \beta < 0 \end{aligned}$$

and

$$\begin{aligned} a_{n_{j+2}-1}(\Delta_\alpha x(n_{j+2} - 1) + \Delta x(n_{j+2} - 1)) &\leq a_{n_{j+1}}(\Delta_\alpha x(n_{j+1}) + \Delta x(n_{j+1})) \\ &= b_{j+1}(a_{n_{j+1}-1} \Delta_\alpha x(n_{j+1} - 1)) + b_{j+1}(a_{n_{j+1}-1} \Delta x(n_{j+1} - 1)) \\ &= b_{j+1} a_{n_{j+1}-1} (\Delta_\alpha x(n_{j+1} - 1) + \Delta x(n_{j+1} - 1)) \leq -b_{j+1} b_j \beta \\ &< 0. \end{aligned}$$

By induction, we obtain

$$a_n(\Delta_\alpha x(n) + \Delta x(n)) \leq -\beta \prod_{n_j \leq n_k \leq n} b_k < 0,$$

that is

$$\Delta_\alpha x(n) + \Delta x(n) \leq -\frac{\beta}{a_n} \prod_{n_j \leq n_k \leq n} b_k.$$

Now we go on the following calculation

$$x(n_j + 1) - \frac{(\alpha + 1)}{2} x(n_j) = x(n_j + 1) - \frac{(\alpha + 1)b_j}{2} \frac{a_{n_j-1}}{a_{n_j}} x(n_j - 1) \leq -\frac{\beta}{2a_{n_j}} b_j,$$

$$x(n_j + 2) - \frac{(\alpha + 1)^2}{4} x(n_j) \leq \frac{(\alpha + 1)\beta}{2 \cdot 2a_{n_j}} b_j - \frac{\beta}{2a_{n_j+1}} \prod_{n_j \leq n_k \leq n_j+1} b_k,$$

$$x(n_j + 3) - \frac{(\alpha + 1)^3}{2^3} x(n_j) \leq -\frac{(\alpha + 1)^2 \beta}{2^2 \cdot 2a_{n_j}} b_j - \frac{(\alpha + 1)\beta}{2 \cdot 2a_{n_j+1}} \prod_{n_j \leq n_k \leq n_j+1} b_k - \frac{\beta}{2a_{n_j+2}} \prod_{n_j \leq n_k \leq n_j+2} b_k,$$

By induction, we obtain

$$\begin{aligned} x(n+1) &\leq \left(\frac{\alpha + 1}{2}\right)^{n-n_j+1} b_j \frac{a_{n_j-1}}{a_{n_j}} x(n_j - 1) - \left(\frac{\alpha + 1}{2}\right)^{n-n_j} \frac{\beta}{2a_{n_j}} b_j \\ &\quad - \left(\frac{\alpha + 1}{2}\right)^{n-n_j-1} \frac{\beta}{2a_{n_j+1}} \prod_{n_j \leq n_k \leq n_j+1} b_k - \left(\frac{\alpha + 1}{2}\right)^{n-n_j-2} \frac{\beta}{2a_{n_j+2}} \prod_{n_j \leq n_k \leq n_j+2} b_k \\ &\quad - \dots - \frac{\alpha - 1}{2} \frac{\beta}{2a_{n-1}} \prod_{n_j \leq n_k \leq n-1} b_k - \frac{\beta}{2a_n} \prod_{n_j \leq n_k \leq n} b_k, \end{aligned} \tag{2.2}$$

in view of  $x(n) > 0$ , it follows from (h2) that the right side of (2.2) converges to  $-\infty$ , however, the left side of (2.2) is eventually positive, which is a contradiction.

Therefore

$$\Delta_\alpha x(n_k - 1) + \Delta x(n_k - 1) \geq 0, n_k - 1 \geq N^*.$$

By (c2), for  $\forall n_k \geq N^*$ ,  $a_{n_k} (\Delta_\alpha x(n_k) + \Delta x(n_k)) = b_k a_{n_k-1} (\Delta_\alpha x(n_k-1) + \Delta x(n_k-1)) \geq 0$ . Because  $S(n)$  is monotonically decreasing in  $N(n_{j+i-1}, n_{j+i}]$ , we get  $S(n) \geq 0$  for  $n \in N(n_{j+i-1}, n_{j+i}]$ , which implies

$$\Delta_{\alpha}x(n) + \Delta x(n) \geq 0.$$

This completes the proof.

**Remark 2.3:** Suppose that  $x(n)$  is eventually negative, if (h1) and (h2) hold true, then we get  $\Delta_{\alpha}x(n_k - 1) + \Delta x(n_k - 1) \leq 0$ ,  $\Delta_{\alpha}x(n) + \Delta x(n) \leq 0$ ,  $n \in N[n_k, n_{k+1})(n_k - l > N^*)$ .

### 3. OSCILLATION CRITERIA

**Theorem 3.1:** Suppose that condition (h1) and (h2) hold, and for all sufficiently large  $n_j$ ,

$$\sum_{i=n_j+1, i \neq n_k}^n p_i \prod_{n_j < n_k \leq i} \frac{\alpha+1}{2b_k} \rightarrow +\infty (n \rightarrow \infty) \quad (3.1)$$

holds. Then every solution of Eq. (1.1) is oscillatory.

**Proof:** If Eq. (1.1) has a nonoscillatory solution  $x(n)$ , Without loss of generality, we might assume that  $x(n) > 0 (n > n_0)$ . From lemma 2.2, get  $\Delta_{\alpha}x(n) + \Delta x(n) \geq 0$ ,  $n \in N[n_k, n_{k+1}](n_1 > n_0 + l)$ ,  $k = 1, 2, \dots$ .

Let

$$w(n) = \frac{a_{n-1} (\Delta_{\alpha}x(n-1) + \Delta x(n-1))}{x(n-l)}.$$

Then

$$w(n_k) \geq 0 (k = 1, 2, \dots), w(n) \geq 0 (n \geq n_0).$$

Using Eq. (1.1) and (c1), we get

$$\begin{aligned} \Delta w(n) &= \frac{a_n (\Delta_{\alpha}x(n) + \Delta x(n))}{x(n+1-l)} - \frac{a_{n-1} (\Delta_{\alpha}x(n-1) + \Delta x(n-1))}{x(n-l)} \\ &= \frac{\Delta (a_{n-1} (\Delta_{\alpha}x(n-1) + \Delta x(n-1)))}{x(n-1)} - \frac{a_n (\Delta_{\alpha}x(n) + \Delta x(n))}{x(n-l)} \\ &\quad + \frac{a_n (\Delta_{\alpha}x(n) + \Delta x(n))}{x(n+1-l)} \end{aligned}$$

$$\begin{aligned}
 &= \frac{-f(n, x(n-l) + g(x(n)))}{x(n-l)} - \frac{a_n (\Delta_\alpha x(n) + \Delta x(n) \Delta x(n-l))}{x(n-l)x(n+1-l)} \leq -p_n, \\
 w(n_k + 1) &= \frac{a_{n_k} (\Delta_\alpha x(n_k) + \Delta x(n_k))}{x(n_k + 1-l)} \\
 &= \frac{b_k a_{n_k-1} (\Delta_\alpha x(n_k - 1) + \Delta x(n_k - 1))}{x(n_k + 1-l)} \leq \frac{2b_k}{(\alpha + 1)} w(n_k),
 \end{aligned}$$

It follows from the above inequalities that  $w(n)$  satisfies the following difference inequalities

$$\begin{cases} \Delta w(n) \leq -p_n, n \neq n_k, k \in N, \\ w(n_k + 1) \leq \frac{2b_k}{(\alpha + 1)} w(n_k). \end{cases}$$

Applying Lemma 2.1, we have

$$\begin{aligned}
 w(n+1) &\leq w(n_j) \prod_{n_j < n_k \leq n} \frac{2b_k}{(\alpha + 1)} - \sum_{i=n_j+1, i \neq n_k}^n p_i \prod_{i < n_k \leq n} \frac{2b_k}{(\alpha + 1)} \\
 &\prod_{n_j < n_k \leq n} \frac{2b_k}{\alpha + 1} \left( w(n_j) - \sum_{i=n_j+1, i \neq n_k}^n p_i \prod_{n_i < n_k \leq i} \frac{\alpha + 1}{2b_k} \right), n \geq n_j. \tag{3.2}
 \end{aligned}$$

By (3.1), (3.2) and  $w(n) > 0$ , we can draw a contradiction as  $n \rightarrow \infty$ . Hence, every solution of Eq. (1.1) is oscillatory. This completes the proof.

**Corollary 3.2:** Assume that (h1) and (h2) hold and there exists a positive integer  $k_0$  such that  $\alpha + 1 \geq 2b_k$  for  $k \geq k_0$ . If

$$\sum_{n \neq n_k, k \in N} p_n = +\infty, \tag{3.3}$$

then every solution of Eq. (1.1) is oscillatory.

**Proof:** Without loss of generality. Let  $k_0 = 1$ , it follows from  $\alpha + 1 \geq 2b_k$  that

$$\sum_{i=n_j+1, i \neq n_k, k \in N}^n p_i \prod_{n_j < n_k \leq i} \frac{\alpha+1}{2b_k} \geq \sum_{i=n_j+1, i \neq n_k, k \in N}^n p_i. \tag{3.4}$$

Let  $n \rightarrow \infty$ , applying (3.3) and (3.4), we get (3.1). According to Theorem 3.1 we obtain that every solution of Eq. (1.1) is oscillatory.

**Corollary 3.3:** Assume that (h1) and (h2) hold and there exist a positive integer

$k_0$  and a positive constant  $\lambda$  such that  $\frac{\alpha+1}{2} \geq \left(\frac{n_{k+1}}{n_k}\right)^\lambda b_k$  for  $k \geq k_0$ . If

$$\sum_{n \neq n_k, k \in N} n^\lambda p_n = +\infty, \tag{3.5}$$

then, every solution of Eq. (1.1) is oscillatory.

**Proof:** Without loss of generality. Let  $k_0 = 1$ , it follows from  $\frac{\alpha+1}{2} \geq \left(\frac{n_{k+1}}{n_k}\right)^\lambda b_k$

$$\begin{aligned} \sum_{i=n_0, i \neq n_k, k \in N}^n p_i \prod_{n_0 \leq n_k \leq i} \frac{\alpha+1}{2b_k} &= \sum_{i=n_0}^{n_1-1} p_i + \frac{\alpha+1}{2b_1} \sum_{i=n_1+1}^{n_2-1} p_i + \dots + \frac{(\alpha+1)^j}{2b_1 2b_2 2b_3 \dots 2b_j} \\ &\times \sum_{i=n_j+1, i \neq n_k, k \in N[j+1, \infty)}^n p_i \geq \frac{\alpha+1}{2b_1} \sum_{s=n_1+1}^{n_2-1} p_s \\ &+ \dots + \frac{(\alpha+1)^j}{2b_1 2b_2 2b_3 \dots 2b_j} \sum_{s=n_j+1, i \neq n_k, k \in N[j+1, \infty)}^n p_s \\ &\geq \frac{1}{n_1^\lambda} \left[ \sum_{s=n_1+1}^{n_2-1} n_2^\lambda p_s + \dots + \sum_{s=n_j+1}^n n_{j+1}^\lambda p_s \right] \\ &\geq \frac{1}{n_1^\lambda} \sum_{s=n_1+1, s \neq n_k, k \in N}^n s^\lambda p_s, n \in N(n_j, n_{j+1}). \end{aligned}$$



Let  $n \rightarrow \infty$ , applying (3.5), we get (3.1). According to Theorem 3.1, we get every solution of Eq. (1.1) is oscillatory.

**Remark 3.4:** Using the similar method, we can discuss oscillation criteria for the following advanced and mixed difference equations with impulsive effect:

$$\begin{cases} \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) + f(n, x(n+l)) = 0, \alpha > 0, n \neq n_k, k \in N, \\ a_{n_k} \Delta_\alpha x(n_k) = b_k(a_{n_k-1}(\Delta_\alpha x(n_k-1))), \\ a_{n_k} \Delta x(n_k) = b_k(a_{n_k-1}(\Delta x(n_k-1))), \end{cases}$$

$$\begin{cases} \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) + f(n, x(n+l)) = g(x(n)), \alpha > 0, n \neq n_k, k \in N, \\ a_{n_k} \Delta_\alpha x(n_k) = b_k(a_{n_k-1}(\Delta_\alpha x(n_k-1))), \\ a_{n_k} \Delta x(n_k) = b_k(a_{n_k-1}(\Delta x(n_k-1))), \end{cases}$$

$$\begin{cases} \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) + f(n, x(n), x(n+l)) = 0, \alpha > 0, n \neq n_k, k \in N, \\ a_{n_k} \Delta_\alpha x(n_k) = b_k(a_{n_k-1}(\Delta_\alpha x(n_k-1))), \\ a_{n_k} \Delta x(n_k) = b_k(a_{n_k-1}(\Delta x(n_k-1))), \end{cases}$$

$$\begin{cases} \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) + f(n, x(n), x(n+l)) = g(x(n)), \alpha > 0, n \neq n_k, k \in N, \\ a_{n_k} \Delta_\alpha x(n_k) = b_k(a_{n_k-1}(\Delta_\alpha x(n_k-1))), \\ a_{n_k} \Delta x(n_k) = b_k(a_{n_k-1}(\Delta x(n_k-1))), \end{cases}$$

$$\begin{cases} \Delta(a_{n-1}(\Delta_\alpha x(n-1) + \Delta x(n-1))) + f(n, x(n-l), x(n+l)) = g(x(n)), \alpha > 0, n \neq n_k, k \in N, \\ a_{n_k} \Delta_\alpha x(n_k) = b_k(a_{n_k-1}(\Delta_\alpha x(n_k-1))), \\ a_{n_k} \Delta x(n_k) = b_k(a_{n_k-1}(\Delta x(n_k-1))), \end{cases}$$

4. EXAMPLES

**Example 1:** Consider impulsive delay difference equation:

$$\left\{ \begin{aligned} &\Delta \left( \frac{1}{n-1} \left( \Delta_{\frac{1}{2}} x(n-1) + \Delta x(n-1) \right) \right) + \frac{\ln \left[ \left( \frac{n}{n-1} \right)^{\frac{3}{2(n-1)}} \frac{n^{\frac{7n-3}{3n}}}{(n+1)^{\frac{2}{n}}} \right] - \frac{1}{e^n}}{\ln(n-l)} x(n-l) \\ &= -\frac{1}{e^n} \operatorname{sgn}(x(n)), n \neq 2k, k \in N, \\ &\frac{1}{2k} \Delta_{\frac{1}{2}} x(2k) = \frac{3k-1}{4k} \left( \frac{1}{2k-1} \Delta_{\frac{1}{2}} x(2k-1) \right), \\ &\frac{1}{2k} \Delta x(2k) = \frac{3k-1}{4k} \left( \frac{1}{2k-1} \Delta x(2k-1) \right), \end{aligned} \right. \tag{4.1}$$

in which  $a_n = \frac{1}{n}, \alpha = \frac{1}{2}, p_n = \frac{\ln \left[ \left( \frac{n}{n-1} \right)^{\frac{3}{2(n-1)}} \frac{n^{\frac{7n-3}{3n}}}{(n+1)^{\frac{2}{n}}} \right] - \frac{1}{e^n}}{\ln(n-l)}, b_k = \frac{3k-1}{4k}$ , applying

Corollary 3.2, we get every solution of Eq. (4.1) is oscillatory. But the delay difference equation

$$\begin{aligned} &\Delta \left( \frac{1}{n-1} \left( \Delta_{\frac{1}{2}} x(n-1) + \Delta x(n-1) \right) \right) + \frac{\ln \left[ \left( \frac{n}{n-1} \right)^{\frac{3}{2(n-1)}} \frac{n^{\frac{7n-3}{3n}}}{(n+1)^{\frac{2}{n}}} \right] - \frac{1}{e^n}}{\ln(n-l)} x(n-l) \\ &= -\frac{1}{e^n} \operatorname{sgn}(x(n)), n \neq 2k, k \in N, \end{aligned}$$

has a nonoscillatory solution  $x(n) = \ln n$ .

**Example 2:** Consider impulsive delay difference equation:

$$\begin{cases} \Delta \left( \frac{1}{e^n} (\Delta_2 x(n-1) + \Delta x(n-1)) \right) + n^{3s-1} x(n-1) \\ = -\exp(x(n)) \operatorname{sgn}(x(n)), n \neq 2k, k \in N, \\ \frac{1}{e^{2k}} \Delta_2 x(2k) = \frac{3k}{2k+3} \left( \frac{1}{e^{(2k-1)}} (\Delta_2 x(2k-1)) \right), \\ \frac{1}{e^{2k}} \Delta x(2k) = \frac{3k}{2k+3} \left( \frac{1}{e^{(2k-1)}} (\Delta x(2k-1)) \right), \end{cases} \quad (4.2)$$

in which  $s(> 1)$  is integer,  $a_n = \frac{1}{e^n}$ ,  $\alpha = 2$ ,  $\gamma = 1$ ,  $p_n = n^{3s-1}$ ,  $b_k = \frac{3k}{2k+3}$ , applying Corollary 3.3, we derive that every solution of Eq. (4.2) is oscillatory.

### Acknowledgements

This work is supported by the National Natural Science Foundation of China (1077110ψ).

### REFERENCES

- [1] Q. Yang, 2003, Interval Oscillation Criteria for a Forced Second Nonlinear Ordinary Differential Equations with Oscillatory Potential. *Appl. Math. Comp.*, **135**, 49-64.
- [2] Q. Yang, L. Yang, S. Zhu, 2003, Interval Criteria for Oscillation of Second-order Nonlinear Neutral Differential Equations. *Comput. Math. Appl.*, **46**, 903-918.
- [3] J. Yan, A. Zhao, 1998, Oscillation and Stability of Linear Impulsive Delay Differential Equations. *J. Math. Anal. Appl.*, **227(1)**, 187-194.
- [4] J. Yan, C. Kou, 2001, Oscillation of Solutions of Impulsive Delay Differential Equations. *J. Math. Anal. Appl.*, **254**, 358-370.
- [5] L. Berezhansky, E. Braveman, 2003, Oscillation and Other Properties of Linear Impulsive and Nonimpulsive Delay Equations. *Appl. Math. Lett.*, **16**, 1025-1030.
- [6] M. Peng, 2003, Oscillation Criteria for Second-order Impulsive Delay difference Equations. *Appl. Math. Comp.*, **146**, 227-235.
- [7] M. Peng, 2002, Oscillation Theorems of Second-order Nonlinear Neutral Delay difference Equations with Impulses. *Comput. Math. Appl.*, **44(5, 6)**, 741-748.
- [8] V. Lakshmikantham, D.D. Bainov, and P.S. Simenov, 1989, Theory of Impulsive Differential Equations (Singapore: World Scientific).

- [9] D.D. Bainov, P.S. Simenov, 1993, *Impulsive Differential Equations: Periodic Solutions and Applications* (Lodon: Longman).

**Hong Zhang**

Department of Mathematics  
Jiangsu University, JiangSu  
ZhenJiang 212013, P. R. China  
*E-mail: cnczhanghong@163.com*

**Lansun Chen**

Department of Applied Mathematics  
Dalian University of Technology  
Dalian, Liaoning, 116024, P. R. China  
*E-mail: lschen@amss.ac.cn*